
   

Toyota Yaris GR Carbon Fibre Front 
Air Feed Fitting Guide 

  

  

Tools needed:   

• Ratchet & Socket Set   

• Allen Key Set  

 

Kit Includes:  

• AIRTEC Motorsport Carbon Fibre Air Feed 

• 1x Foam Strip 

• 3x M6x16mm Button Head Bolts 

• 3x M6 Nyloc Nuts 

• 6x M6 Pan Washers 

 

PLEASE THOROUGHLY READ THESE INSTRUCTIONS AND MAKE SURE YOU 

ARE FAMILIAR WITH THE STEPS BEFORE CARRYING THEM OUT  

    

 
 



   

Instructions:   
1.  Start by sticking the supplied foam piece in place where the original air feed was 

located. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Now attach the bracket onto the air feed using the two M6 bolts with four washers 

and two nyloc nuts supplied. Make sure that the bracket is secured the correct way, 

as shown. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3.  Locate the hole in the slam panel as shown and align the bracket to it. Then secure 

in place using the provided M6 bolt with a nyloc nut and washers. 

                    


